
①(a) order 3

(b) linear

-
A(x) = (3x dx = x

3

e

*
y + 3xey = 3xe

*

(e
*y)) = 3xe

*

eXy+c = e+2u = x3

du = 3xdX

3.

X x3
ey = e + C

Ete*



④ be

y -dy = 6xdx

Sydy = S6xdx

F =+ c

- 5 = 3x + C

Ex+

Need y(0) = 1 :

1 = y(0) = =+

1 =
c =

- 1

Est



⑤ (a) xy)+ (x)y= 0

M(x ,7) N(x , y)

M(x, y) = X* + y2 these are al

continuous for
N(x,y) = 2xY all X,y .

So take

R to be the xy-plane

And,e &
=

So ,
the equation

is exact

-

(b) Need to solve

f(x ,2) = 5x + yx + c(y) Q

[Ex
Set equal : Ex+ yx + ((y) = xy + D(x)

E
f(x ,y) = =x + yx

Plug ((x) = 0 into D to get

We+yx = c where a is a constant



⑧ y"- y- by = 0

r2 - r - 6 = 0

=
=

3x -
2x

EAnswer : y = <
,
e + Ge

-


